CSC 501 Homework #2
Due Date:  Monday, February 2
1. Do problems 13 and 14 on page 373.

2. Its interesting that the array-based version of the queue is more complicated to implement than the array-based version of the stack and yet the linked implementations for both queue and stack are roughly the same in difficulty (or ease).  In your own words, explain why the array-based queue is more challenging.

3. The typical simulation has a single “server” servicing a number of “jobs” waiting in a line.  For each description of a simulation below, provide pseudocode for how you would make it function.
a. a typical simulation with one server and one line

b. multiple “servers” with one line

c. multiple lines where lines represent priorities and where the single “server” only moves on from the highest priority line when that line is empty

d. multiple “servers” and the same number of lines, where each server services its associated line until it is empty and then moves on to another line based on a priority scheme

4. A new ADT, called a stue (pronounced “stew”) is the same as a stack but it has the added operation that you can also add an element to the bottom, making it also somewhat like a queue.  Since we can now add an element from both ends, it is no longer a predictable unit of storage like a queue or a stack.  

a. Why might you want to implement a stue (or why would you not want to)?
b. Assuming a linked implementation, how does the stue differ from the stack?
